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AGRICULTURE
Paper I
Time : 3 Hours M;zximu.m Marks : 150
x.Vote — Attempt Five questions in all. Question No. 1 is

compulsory. All questions carry equal mayks.
wo1 Gt W HA | uvH wae 1 sitErd
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g Define integrated farming system. Give objectives,
principles, advantages and scope of integrated
farming system in India. Discuss about resource
recycling in different integrated farming systems in

India. 30
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Write production technologies of any three of the

following crops : 3x'10=30
() Cotton

(bH) Sugarcane

(c) Groundnut

{d) Barley

. (e) Gram.
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Diﬂ'er.entiate and elaborate the following : 6x5=30
(ex) Soeil fertility and soil productivity

H) Grgvitational water and hygroscopic water
(c) Soil texture and soil structure

) Bulk density and particle density

(e) C, plants and C, plants

N Krishi Vigyvan Kendra and Agriculture

Technology Information Centre.
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What is soil erosion ? What are different types of
soil erosion ? Describe the factors responsible for soil
_erosion. Also describe mechanical and agronomic

measures to control soil erosion. 30
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Discuss Lhe rale of c¢limale in agricuiture. What
are the impacts of c¢limate change in agriculture 7
How c¢an the impacis be mi;*.igatcd in crop
environment 7 ; 30
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Enlist the essential elements required by plants. What
are the sources of these elements ? How are they
lost from the soil ? Describe the measures to maintain

their status in soil. 30
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Answer any six of the following : 6x5=30

(a) What is critical stage approach for scheduling

of irrigation ?

b) What do vou mean by integrated weed

management ?
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Describe types of farm budgeting.

Give classification of extension teaching

methods.
Give classification of systems of farming.
What is Law of Diminishing Return ?

Give principles of extension programme

planning.

What are the factors affecting water use

efficiency ?
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M E ?
Answer the following : _ 15x2=30

(1} According to Planning Commission (18989) Agro-

climatic Zones in India are.......................... :
{a} 12
(&) 15
{c) 17

@) 20



(3)

Diameter of clay particle 18 ...ccccccccvccciannerrsn. .

{ex) Tess than 0.002 mm

(H) 0.02 to 0.002 mm

() 0.20 to 0.02 mm

(cl) 2.0 to 0.2 mm

According to land capability classification, class

V Jand is suitable for .....ccocceemaae..... .

.
(ar) Orchards
(H) Pasteurs
(¢) Pulse crops

() Oilseed crops

PO
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Bulk density of soil normally wvaries

Db WaEn: e

fer) 260 - 2.70 mgfm>
b)) 295 — 2.90 me/m?
{e) 2,00 — 2.20 mg/m?
) 1.00 — 1.80 mg/m?

A sail is having bulk density of 1.4 mg/m? and

particle density of 2.5 mg/m*, the percent

porosity of sorl is- ...
e A4
(f1 75
(e 64
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......................... is the correct sequence of soil

erosion.

{a) Sheet-Rill--Gulley
(D) Sheet—Gulley-Rill
(e)  Rill-Sheet—Gulley
(d) Gulley—Sheet—Rill

If electrical conductivity (ds/m) of soil is more
than 4, exchangeable sodium percentage is
more than 15 and pH is more than 8.5, the

(T B RO RO A o
(a) Sodic

(6) Saline sodic

( c.) Acidic

(d) Saline
P.T.O.
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Most effective herbicide to control cuscuta in

lucerne iS ..c...ccceerinvecccsocas
(a) Metalachlor

(b) Isoproturoﬁ -

(c) Pendi.meth alin

{(d) Paraquat

“Madhuri” variety of maize

{a) Pop corn

(h) Waxy corn

(¢) Pod corn

(d) Sweet corn

crop
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( 13 ) Agri-]

Zinc sulbhate should not be mixed

{a) Urea

(&) FYM

(c) DAP

(d) Ammonium chloride

........................... are the elements

communication process.

(a) Source-—message—channel—receiver

(H) Teaching—research—extension

(e) Production—processing—marketing

() Information—research—extension

of

P EO.
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Frontline demonstrations are laid

(ax) Method of technology

{(H) Production potential of technology
(Q) Refinement in technology

(cd) Skill development

...................... is a traditional medium

communication.
(ct) Television
5) Radio

(c) Puppet show

(d) Internet

to

of
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(14) T & V system was introduced in India in the
FOREN 53ce % p el w5005 SR s
(a) 1970
(h 1972
(c) 1974
(d) 1968

{15) Minimum support price was started in the

VOB iiisnsreionnasiazens
(a) 1972
b) 1982
{c) 1995
(d) 1965

P.T:0.
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(=1) 12
(=) 15
(|) 17
(]) 20
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(31) 2.60 - 2.70 Tamm./#
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(Z) 1.00 - 1.80 oo /=P
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() 1972

(F) 1982

(") 1995

(T) 1965

23



